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3XML�6\XNXU�SHQXOLV�SDQMDWNDQ�NHKDGLUDW�$OODK�6:7�\DQJ� WHODK�PHPEHULNDQ�UDKPDW�

GDQ�NDUXQLD1\D� �KLQJJD�DNKLUQ\D�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�GHQJDQ�

MXGXO�³3HUDQFDQJDQ�6LVWHP�0DQDMHPHQ�.LQHUMD�+RWHO�0DODND�0HQJJXQDNDQ�0HWRGH�

%DODQFHG� 6FRUHFDUG GDQ� $QDO\WLFDO� +LHUDUFK\� 3URFHVV´� VHEDJDL� VDODK� VDWX� V\DUDW�

GDODP� PHQ\HOHVDLNDQ� 3URJUDP� 6WXGL� 6WUDWD��� 7HNQLN� ,QGXVWUL�� )DNXOWDV� 5HND\DVD�

,QGXVWUL��8QLYHUVLWDV�7HONRP��

'DODP�NHVHPSDWDQ� LQL�� SHQXOLV� LQJLQ�PHQJXFDSNDQ� UDVD� WHULPD�NDVLK�NHSDGD�SLKDN�

SLKDN�\DQJ�WHODK�PHQGXNXQJ�SURVHV�SHQXOLVDQ�7XJDV�$NKLU�LQL��GLDQWDUDQ\D��

$OODK�6:7�\DQJ�WHODK�PHPEHULNDQ�NHNXDWDQ��NHPXGDKDQ�VHUWD�SHWXQMXN�\DQJ�WLGDN�

SHUQDK�WHUSXWXV�NHSDGD�SHQXOLV�

%DSDN�$HQXURILN��6�(���0�.RP��GDQ�,EX�6XVULDWL��6�(���6�3G��VHODNX�RUDQJ�WXD�SHQXOLV�

\DQJ� WHODK� PHPEHULNDQ� GXNXQJDQ� SHQXK� EDLN� VHFDUD� PDWHUL� PDXSXQ� VHFDUD� PRULO�

VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

%DSDN�,U��%XGKL�<RJDVZDUD��0�7��VHODNX�GRVHQ�SHPELPELQJ���\DQJ�WHODK�PHPEHULNDQ�

DUDKDQ��LOPX��GDQ�PRWLYDVL�NHSDGD�SHQXOLV�DJDU�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

GHQJDQ�EDLN�GDQ�EHQDU�

,EX�$W\D�1XU�$LVKD��6�7���0�7��VHODNX�SHPELPELQJ���\DQJ�WHODK�PHPEHULNDQ�NULWLN�

GDQ�VDUDQ�VHUWD�PRWLYDVL�NHSDGD�SHQXOLV�VHKLQJJD�GDSDW�PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�

GHQJDQ�EDLN��

%DSDN�7DWD�'LEUDWD�VHODNX�*HQHUDO�0DQDJHU�+RWHO�0DODND��,EX�-XMX�-XOLDZDWL�VHODNX�

+5'�� VHUWD� VHOXUXK 0DQDMHPHQ� +RWHO� 0DODND� \DQJ� GHQJDQ� WHUEXND� PHPEHULNDQ�

GXNXQJDQ��DNVHV��GDQ�PDVXNDQ�\DQJ�PHPXGDKNDQ�SHQXOLV�XQWXN�PHQ\HOHVDLNDQ�7XJDV�

$NKLU�LQL�GHQJDQ�EDLN�


